
���������������������������������������������
�������������������������������������
��
	���������������������������������������������

����������
������
����� �����
��
­����������������
��������
�����������������
��������

�������������
�����
�������������������

	���­���	�	���������� �����������������
������������
���������������������������������������������

	���­���	�	����������
������������­��� ������������������  ��� ��������� ������­�����  �������­

���������������������������

����������������������������������������
�������


�����������������
������	��	�����������	�������������������������������������������������������������	����	��
�����	���������
����������������������������������������


��������������	������������������	�������������������	���������������������������������������	��������������������
����������


�����������������	�������������	��	���������������������������������������������������������������	����
��������		�����������	��������������
���	������������

��������
����������
����

��������
�������
������

�­������������� ������
����������������
���������������������
��	�������������
���������������

2mm Drill bit

x2  ������­���������������­����������
�������­��������������­�������	����


�����������������������
���	�����������������

��������������������������
��­�������������������	����
����������������������	����
����������	�����������

�������
�������������������������������������
������	����������	���������������������
������	�����������������������������	����������
�������������������������������������������������
�����������������������������������������
�������

��������������������������
����������������������������
	��	����������������
	����������

����­������������

��������
���������������

� ��­��­��������


�����������­������ ��­���������­��������­�������  ��

����	��������	��������������������������������������������������������������������������

� �������������������������������������������������������������������������������������
��������������������������������
������

������������������������������	��������	����������������������������

�����������������������������������������������	����������������������������������������

 ��������������������������� ����

���������������������������������������������������������������������������������������		�����������������	���
�����������������������������������������������������������

 ����������������������������������	��������������������������������������������������������������������	�������
�����������������������

������

�������������������������������������	���������	���������������������������	����������������������������������������
�����������������������������������������������������������		���� �����������������������������		������������	�������
���������������������������������������������������������������������	������	���������������������	��������������������
��������������������������������������������������������������������������������������������������������������������
��	�����������������������������������

��	����������������������������������������������������������������������������������������������������������������������
����������������������������������������������������������������������������������������������������
���������������

����������������������
������������������������������������������	��������������������	���������������������������������
���������������������
���������������������������
��������������������������������������������������������
����������������������������������
�
�����������������������������������������������������������������������������

��� ���������­�
 ������������������������������������������������������������������������	������	�����
���������������������������		������������������������������	����������������������������

��������������������������������������������������������������������������������������������������������������������������
��������������������������������������������������������������������������������������������	���������������������������
������	�����������������������������������������	����������������������������������������������������������������������
������������������������

����­������­�

����	����������������������������������
	����

����������������������������������

� �����������

��������������
����������������
��������
���������������������
��
��������������
��������������������
���������
�����
��
����
�����������
����������������������������������������������������������������������������������������������
���
����



	���­���	�	���������� �����������������
������������
���������������������������������������������

������ �­�

������������������	���������������������������������������������������������

�������������������������������������������������������

���	���������������������������	�������������������������	��	������	���������������

���	����������������������������������

���	������������������������	�������������������
���������������������������
�����
	�����������������������������������
��
������������������������������������������	���

�����������������	��������������������������������	��������������������	��

�����������������	����������������������


������������������������������������������������������������������������
����������������������������
��������
��������
�������������������������
����������

����������������������������������������������������	����

�������������������������������������������������������������������

����������������������������������������������������������������������������������
�����

���������� �­�

������
�����������	���������
�����
�������������
�����������������������������
������������
��������
������������
�������������
��������������������������
����������
������

����	��������� ������������

 ���������������������

�����������������������������������
��������
��������
��������

������� ������������������������
��������������������	�
��������������������������

�������­����­¡�
����
���������
������������

�������������
�����
�������������������

�����������­������

�����������������������������������������������������
�����������������	����	���������������������������	����
��������������


������������������	�����������������������������������	��
������������������������������������	������

�������

���������������	�������������	���	����������	�����

���� ����������������������

����������������������	��	�����

����������������������������������������������������¡���
������������������
��������������������������	��
��������

����­



�������������
�����
�������������������

�����������������
������������
���������������������������������������������

Before assembly  
please make sure you have a 

suitable base ready to erect your 
building 

 

MADE IN GREAT BRITAIN

Overall Dimensions:
Width = 2545mm 
Depth = 2546mm 
Height = 2118mm

Base Dimensions: 
Width = 2429mm 
Depth = 2430mm 

Contents:
1

Door Panel
QTY 1

AI-03S11SHDD1411X2058-V1      

2

Window Panel 
QTY 2

AI-03S11SH1TFWC1411X2058-V1

3

Large Right Panel
QTY 1

AI-03S11SHPGR1201X2062-V1

4

Small Right Panel
QTY 1

AI-03S11SHPGR1201X2002-V1

5

Large Left Panel
QTY 1

AI-03S11SHPGL1201X2062-V1

6

Small Left Panel
QTY 1

AI-03S11SHPGL1201X2002-V1

8

Angled Floor 
1382x2430mm

QTY 1
AI-R11MBAF1382X2430-V1

7

Floor 
1047x2430mm

QTY 1
AI-R11MBF1047X2430-V1

9

Roof
728x2516mm

QTY 2
AI-S11MBPR728X2516-V1

10

Angled Roof
1016x2516mm

QTY 1
AI-S11MBANGRR1061X2516-V1

13

15

Roof Support Block 44x58x350mm QTY 1
F4458-G-390mm

Door Strip 12x40x1261mm QTY1
S1240-1261mm

14

Locating Block 28x28x239mm QTY 2
FS2828-239mm

11

Master Door
QTY 1

AI-STDFGMD603X1715-V1

12

Secondary Door
QTY 1

AI-STDFGSD603X1715-V1

23

24

Roof Support Bar 44x44x2633mm QTY 1 
F4444-2633mm

Fascia 12x95x1258mm QTY 4
S1295-1258mm

Fascia 12x95x1485mm QTY 3
S1295-1485mm

Cover Trim 12x40x2055mm QTY 6
S1240-2055mm

Rear Roof Frame 28x28x2517mm QTY 1
FS2828-2517mm

Front Roof Frame 28x28x1473mm QTY 1
FS2828-1473mm

 

Panel Joint Frame 28x28x1918mm QTY 1
FS2828-1918mm

25

20

21

22

17

19

Rear Cover Trim 12x60x1909mm QTY 2
S1260-1909mm

16 Door Strip 12x40x1740mm QTY 2
S1240-1740mm

18

Rain Guard - 28x44x680mm QTY 2
RG2844-680mm

Rain Guard - 28x44x1260mm QTY 1
RG2844-1260mm

27 28

Rear Panel Framing 28x28x2374mm QTY 1
FS2828-2374mm

26 Front Panel Framing 28x28x1411mm QTY 1
FS2828-1411mm



�������������
�����
������������������¢

�����������������
������������
���������������������������������������������

34

29 3231

3533

Butt Hinge Qty 6
PI-07-0066

Handle Qty 2
PI-07-0081

L-Bracket Qty 2
PI-07-0012

Turn Button Qty 2
PI-07-0034

30

Felt QTY 1
PI-01-0003

Press Lock Qty 1
PI-07-0162

Barrel Bolt QTY 2
PI-07-0114

30mm Screw x 43

50mm Screw x 108

60mm Screw x 6

40mm Screw x 37

Felt Tacks x100

25mm Screw x 40

Nail Bag
There may be extra screws present in the nail bag 

10mm Screw x 12

35mm Bolt x 4 

Pre Assembly
Before assembling remove the transportation
blocks from the bottom of each panel.

Take care removing the blocks as to not damage
the panels. Tap with a �at headed screwdriver 
and hammer.

Dispose of the blocks once removed.

Pre drill 
hole

25mm 
screw

32

32

32

32

32

32

32

12
111

IMPORTANT: Pre-drill before �xing screws.Step 1
Parts needed - No.1     QTY 1
     No.11  QTY 1
                                 No.12  QTY 1
                                 No.32  QTY 6

Lay the Door Panel (No.1) on a �at surface and 
Place the doors (No.11 and No.12) within the 
Door Panel aperture. Position the doors so that 
they are equally spaced within the opening 
and interlock as shown.  

Fix the Butt Hinges (No.32) onto the door and 
Door Panel as shown. Ensure that the screws 
go through the cladding and into the framing 
behind.

**PLEASE NOTE**  Before �tting the hinges, 
ensure the inner door framing is the correct 
way round as shown in the illustration.

36x25mm Screws

 11
12



�������������
�����
�������������������

�����������������
������������
���������������������������������������������

50mm 
screwPre drill 

hole

63 5

Step 2
Parts needed - No.3  QTY 1
                                 No.4  QTY 1
                                 No.5  QTY 1
     No.6  QTY 1

Fix Large Right Panel (No.3) to Small Right Panel 
(No.4) and Fix Large Left Panel (No.5) to Small 
Left Panel (No.6) using 4x 50mm screws per join.   

8x50mm Screws

IMPORTANT: Pre-drill before �xing screws.

4

50mm 
screwPre drill 

hole

8

7

IMPORTANT: Pre-drill before �xing screws.Step 3
Parts needed - No.7 QTY 1
                                 No.8 QTY 1

Place �oors (No.7 and No.8) on a �rm and level 
base, ensure base has suitable drainage free from 
areas where standing water can collect. (See 
front page on base requirements).  Fix the two 
�oor panels together as shown using 50mm 
screws at an angle and alternate the positions. 

6x50mm Screws

Pre drill 
hole

60mm 
screw

Step 4
Parts needed - No. 1  QTY 1
     No. 2  QTY 2

Place the Door Panel (No. 1) and the 
Window Panels (No. 2) onto the �oor.

Fix the corners with 60mm screws as 
shown in the illustration.

Do not secure the building to the �oor 
until the roof is �tted.

6x60mm Screws

2
1

a

a

a

a

a

a

a

2

IMPORTANT: Pre-drill before �xing screws.

50mm 
screwPre drill 

hole

a

a

a

18
6

5

a

IMPORTANT: Pre-drill before �xing screws.Step 5
Parts needed - No.5 QTY 1
     No.6 QTY 1
     No.18 QTY 1

Place  the two already assembled Left 
Panels (No.5 and No.6) against the 
�oor and the Window Panel.

Fix the corners with 3x50mm screws as 
shown in the illustration.

Attach the Panel Joint Frame (No.18) 
into place with 3x50mm screws.

Do not secure the building to the �oor 
until the roof is �tted.

6x50mm Screws



�������������
�����
�������������������

�����������������
������������
���������������������������������������������

Step 6
Parts needed - No. 3  QTY 1
     No. 4 QTY 1

Using the same method outlined in Step 5 
place the two already assembled Right 
Panels (No.3 and No.4) against the �oor 
and other Panels securing using 6x50mm 
screws.

From the inside �x the corners with 
3x50mm screws as shown in the 
illustration.

Do not secure the building to the �oor 
until the roof is �tted.

6x50mm Screws

50mm 
screwPre drill 

hole

4

3

a

a

a

a

a

a

a

IMPORTANT: Pre-drill before �xing screws.

50mm 
screwPre drill 

hole

Step 7
Parts needed - No. 25  QTY 1
     No. 26  QTY 1

Place the Rear Panel Framing (No.25) on 
top of the Right Panels. Fix in place using 
4x50mm screws.

Place the Front Panel Framing (No.26) on 
top of the Window Panel. Fix in place 
using 3x50mm screws.

7x50mm Screws

26
25

IMPORTANT: Pre-drill before �xing screws.

Pre drill 
hole

31

30mm 
screw

40mm 
screw

31

19
19

14

IMPORTANT: Pre-drill before �xing screws.Step 8
Parts needed - No.14 QTY 1
     No.19 QTY 1
     No.31 QTY 2

First position the Roof Support Bar 
(No.19) in the centre of the building 
between the back corner and the door 
panel.  Ensure the top of the roof 
support bar runs level with building.  
Line the Roof Support Block (No.14) 
with the Roof Support Bar & mark its 
position.  Secure the roof block in 
place using 4x40mm screws. Screw 
through the boards into the block 
from the outside.

Secure the Roof Support Bar (No.19) 
to the door panel using the  “L” Bracket 
(No. 31) and 4x30mm Screws.  Fix the 
other “L” Bracket to the Roof Support 
Block (No. 14) to the underside of the 
Roof Support Bar (No. 19).

8x30mm Screws
4x40mm Screws



�������������
�����
�������������������

�����������������
������������
���������������������������������������������

Step 9
Parts needed - No.9 QTY 2
     No.10 QTY 1

Layout the Roof Panels (No.9 and No.10) 
on a �at level surface and position them as 
shown in the diagram.  Secure the panels 
together using 50mm screws and 
alternate the positions.

12x50mm Screws

9
9

10

50mm 
screwPre drill 

hole

IMPORTANT: Pre-drill before �xing screws.

23

22

13

40mm 
screwPre drill 

hole

** If Shed add on pack has been purchased, do not �t No.23
    the rear roof framing until instructed to do so in the Shed add 

on Pack instructions**

IMPORTANT: Pre-drill before �xing screws.Step 10
Parts needed - No.13 QTY 2
     No.22 QTY 1
     No.23 QTY 1

Attach the front (No.23) roof 
framing to the roof as shown in 
the illustration using 3x30mm 
screws.

Attach the rear (No.22) roof fram-
ing to the roof as shown in the 
illustration using 5x30mm screws.

*Ensure to �x the framing the 
opposite direction to the roof 
bearers. 

Fix the Locating Blocks (No.13) to 
the opposing sides to the roof 
framing (these blocks are to help 
square the roof when �tted).

12x40mm Screws

Pre drill 
hole

50mm 
screw

Step 11
Parts needed - No.9 QTY 1
     No.10 QTY 1

Place both Roof sections (No.9 and 
No.10) on top of the building, ensure 
the roof framing slots over each side 
equally all the way around.

Fix the Roof Panels into position 
using 50mm screws ensuring that 
they line up with the vertical framing 
inside the building and along the 
length of the internal roof support 
bar.

26x50mm Screws

9
9

10

IMPORTANT: Pre-drill before �xing screws.



�������������
�����
�������������������

�����������������
������������
���������������������������������������������

Step 12
Secure the building to the �oor . Fix the 
panels onto the �oor using 50mm 
screws in alignment with the �oor joists

*Ensure to screw through the framing 
into the �oor bearers.

30x50mm Screws

50mm 
screwPre drill 

hole

b b
b bb

b bbb b
b

bb
b

b

IMPORTANT: Pre-drill before �xing screws.

30mm 
screwPre drill 

hole

15

16 16

IMPORTANT: Pre-drill before �xing screws.Step 13
Parts needed - No.15 QTY 1
  - No.16 QTY 2 

Fit the Door Strip (No.15 and No.16) to 
the framing of the door panel, secure 
using 3x30mm screws per strip 

9x30mm Screws

INTERNAL VIEW

35mm
bolt

35

Fix the door handles (No.35) to the 
outside of the master and secondary 
door using the 35mm bolts 
provided.

Fix the Turn buttons (No.29) at the 
top and bottom of the secondary 
door using 2x30mm screws.

2x30mm Screws
4x35mm Bolts

Step 14
Parts needed - No. 29 QTY 2 
  - No. 35 QTY 2  

35

Pre drill 
hole

MASTER DOORSECONDARY DOOR

10mm 
screw

29

29

29

35

IMPORTANT: Pre-drill before �xing screws.

EXTERNAL VIEW

Step 15
Parts needed - No.33 QTY 2
     No.34 QTY 1

33

Pre drill 
hole

10mm 
screw

25mm 
screw

34

Secure the barrel bolts (No.33) to the top 
& bottom of the secondary door using 
6x10mm screws.

Attach the press lock (No34) to the master 
door with 4x25mm screws, aligning the 
barrel with the key hole. 
*Ensure the key turns and locks properly 
before �xing to the door.

12x10mm Screws
4x25mm Screws

MASTER DOOR SECONDARY DOOR

IMPORTANT: Pre-drill before �xing screws.

INTERNAL VIEW



�������������
�����
������������������£

�����������������
������������
���������������������������������������������

Pre drill 
hole

50mm 
screw

Fix the rain guards (No.27) above 
each window, securing in place using 
2x50mm screws per guard, ensuring 
to screw through the framing.  

Fix the rain guard (No.28) above the 
door, secure using 3x50mm screws, 
ensuring to screw through to the 
framing

7x50mm Screws

Step 16
Parts Needed - No.27 QTY 2
   - No.28 QTY 1
                                 

28

27

27

IMPORTANT: Pre-drill before �xing screws.

30mm 
screwPre drill 

hole

17

17
17

17

IMPORTANT: Pre-drill before �xing screws.Step 17
Parts needed - No. 17 QTY 4 

Fit the Cover Trims (No.17) to the front of 
the building onto the joins of the panels, 
secure using 3x30mm screws per cover 
trim.
 12x30mm Screws

Felt 
tacks 

Step 18
Parts needed - No. 30 QTY 1

Cut three strips from the roll of felt (No. 
30), 2x3700mm and 1x2300mm in 
length.  

With one of the 3700mm strips, trim a 
corner o� at 1100mm to make piece 1.

Place the sheets of felt on top of the roof 
panels and align as shown in the diagram 
ensuring each strip overlaps the next by 
200mm.  Ensure that all strips over hang 
the roof by 50mm.

*Ensure strip 1 is the �rst piece placed 
down then lay sheet 2, 3 and then 4 on 
top.

Cut the sides as shown in diagram at the 
dotted lines, use fascia width as a cutting 
guide. Cut the triangle with 50mm 
overhang again using fascia as a guide.

Fix each sheet using felt tacks along 
where sheet overlap at 100mm intervals.

100x Felt Tacks

HANDLE
WITH CARE

1
2

3

4

**If Shed add on Pack has been purchased,
please move onto the Add on Pack Instructions**

3700mm

1000mm

200mm

200mm

200mm

2300mm

1100mm

1

2

3

4

50mm

50
m
m

50
mm

Front



�������������
�����
�������������������	

�����������������
������������
���������������������������������������������

30mm 
screwPre drill 

hole

24 24

1717

IMPORTANT: Pre-drill before �xing screws.Step 19
Parts needed - No. 17 QTY 2
  - No. 24 QTY 2 

Fit the Cover Trims (No.17) to the back of 
the building onto the joins of the 
panels, secure using 3x30mm screws per 
cover trim.

Fix the rear cover trims (No.24) to the 
back of the building, aligning with the 
edge of the panel.

12x30mm Screws

Step 20
Parts needed - No. 20  QTY 4
     No. 21  QTY 3

Fit the fascias (No.20 and No.21) 
to the building over the felt and 
secure in place with 3x40mm 
screws per cover trim.

Make sure the fascias at the back 
of the building �t lower than the 
roof height to allow water to run 
o�.

21x40mm Screws

40mm 
screwPre drill 

hole

20

20

20
20

21

21 21

IMPORTANT: Pre-drill before �xing screws.

It is ESSENTIAL that you apply wood 
treatment immediately after the building 

has been assembled.

AFTER TREATMENT:
score around protective

 cover on glazing and
 carefuly peel

 covering back



����������������������������������������������������������������������������	������
�������������������������������������������	�����¡��������	�����������������	���������	�����
��������������������

 �������������������������������������	������������������������������

��������������������������������������������������	��������	�����������������
���������������������������
	����

������������������������������������������������������¡������������������������
��������������������������������������

������������	�������������	������������	������������������������
�������������������
��������������������¡���������������������������	�����������������������������������
���������������������������������������������������������

������������������������������������������������¡������������������������

��������������������	������������������������������������������������������������������
���������������������������������������������������������������������������������������

�����������������������������¡������������	�����������������������������������������
�������������������������	����������	����������������������������������������������������
�������������������������	�������
������������	���������������������������
�����������
���������������������������������������������������������������������������������������
¢�������������������������������������������������������

�����������������������������	���������������������������	��������������������������
�������	�����������������������	�������	������������������������������������	�����

�������������������������������������������������������	������������	�������������
��������	��	��������	��������������	����������

������������������������ ����

�������������������������¡���������������������
��������������	�������������������	��������������������������������������������	������������������������������������	������������������������
	����������������	���������������	����	��������������������������������	�����������������������������	���������������������������������¡���	��	�������������������¡����������������������
	������������������	����	��������������������������������������������������������������������������������������	�������������������������������	��������������������������������������������
	�����¢������������������	����������������������������

����������
�����
�����
������������������������������������������	��������������������	������������������������������������������������������
���������������
�����
�����
��������������������������������������������������������
 ���������¤��������
����
���������
�
�����������������������������������������������������������������������������

�������������
�����
��������������������

�������������������������������� ���� �����������������
������������
���������������������������������������������

�������­����­¡�
����
���������
������������

��� ����������������

��������� �
�������­­��� �

� ��­��­������������
­������������������




�����������������������

�������������
�����
��������������������

�����������������
������������
���������������������������������������������

�

�����������������������������

��������	����������������������������	��	����������������	������	����������������������������
�����	�����������������������������������������������������������������


����	��������������������	���������������������������������������������


����	����������������������������������������������������������������������������������


����	���������


������	������	���������������		�����	�����������������	�������������	�������


����	������	�����������������������������	�����


�����������������	�����£�	��	������������������	����������������

������­������¥­����������������������������������������� �����������������

���������

���	������������������������������������	�����������������������������������������������
�������	����	�����������������������������������������	������	��������������������������
��������������	����	������������������������������������������������������������	��

������

�����	����������������������������������������	����������������������	��	���������������

���������������������������		�����	�����	�����������������
�������������	��������������
	�����������������	��	��������������

����

���	������������������������������������������������������������������������������������	��
��������������������������������	����	����

�����������
���

��������������	�����	�����	���	�����������������������������	�������	��������	�������
��������������¢�������������������������������	���������������������������������������
��������������������

���

�������	������¤���������������������������	������������������������	������������

­�������������

�����������������	��	�������	�������������������������������������������������������������
	���������	���	������������������	�����������������������������������������������
������������	����������������������������������������	�����	������������������������
�������������������������������

����


����������	������������������������������������������������������������������	��������
������������������������������������		������������������������

������


����������������	�������������������������������������	���������������	��	���	���������
��������������������������������������	��������������������������������������	�����������
�����������������������������������������������������������������������	��������	������
������������������������������

����������
�

��������������	��	�����	�����������������������������������������	���������������������������
	������������������������������������������	�����������	�������������������������������

���������	�����������������������������������		�����	�������	�������������������������
�����	���������������������������	����������������������������������������	�����������������
���������������������

1

2

3

4

5

6

7

8

9



������
����������������������������������¦����
�����������������


­�����������
���������
������������������������	������	��������������������
���������������������������������������������������������	���������������������
	������������������������������������������������������������������������
	��������������	���������������������	����������������������������������������
	�����	������
������	����������������������������������		����
������
��������������������������������������������������������	���������������������
���	����������������������������

����������������������������������������������������������������������
������������������������������������	�������	���������������������������������������
�����������������������	����������������������������������������������������������
��������������������������������������������������������������������������
�������

�������
�����
�����������������������������	�������������	����������	���
���������������	�������������������������������������������������������
����	�������������������������������������������	��������������������������
����������������������������������������������������������������������������������
	�����������������������

��������������������
���������������������	���������������������������
���������������������������������������������������������������������������
	��	������� ���������������������������������������������������������������
�����������������������������	������������������������������������������������������
�������������������������������������������������������	����������������
����
������	����������������������������������������������������	���������
����������	���������������������������������������������

­����������������
�������
�������������	�������������������	��	�����������
	�����������������������������������������������������������������������������
���	����������	��������������������������������������������������������������������
	�������������������������������������������������������

­���
���������������		��������������������������������
����������������������������������������������������
������������������������������������������������������
����������������������������	���������������������������
�������������������	�������������������������������
��	���������������������������������������������������

����������������������������������������	��������
��������������������������������������������������
�������������������������������������	��	������

������������§­���������������­


������������������������������������������������������������������������������������
����������������������������������������������� ����	��������������	��	������
	��	�������������������������������	���������¥���������¡�

�������������������������������������������������������������������������
�������������������	���������������������������������	�������������������������������
������������������������������������������������������

 ���������	������������������������������������������������������������������
������������������������������������������������������

�

�������������������������������
�������
������2


��������������	�������������������������������������������������������������
����������		�����������������	�������������������������������������������������
�������������

 ����������������������������������	������������������������������������������
��������������������������	������������������������������

������������������������������������������������
�������
������1

�¨������������������

��	��������������������������������������������������������������������������������
���������������������������������������������������������������������������������
�����������������������������������������������������������
��������������

����������������������
������������������������������������������	������������������
��	��
����������������������������������������������������
���������������������������
�������������������������������������������������
��������
����������������������������������
�
������������������������������������
�����������������������������������������

 ���������	�������������������	��������������������������������������������
��������������������������������������������������������������������������
���������

�������������	������������������	��	����������������������	������������
�		���������

3

4 ����������������������
����
�����������������

��������
������������������������������������������	��������������������������
�������������������������������������������������������������


��������������������¦

�����	������
��������������	��

��������
��������������

�������������
�����
��������������������

�����������������
������������
���������������������������������������������


�����������������������������������������������������	�����������	��������
�������������������������	������������������������������	����������������������������
����������������������������������������������	���������������������������������������
����������������	��������	��������������������	�����¡����	�������������������������
���������������������	�������������	���������������	�§



����­������������

��������
���������������

� ��­��­��������


�����������������������


������	���������������	������������������������������������������������������������
������	�����������	���
�����������������������	���������������������������������������������������	��������
�����

������������������������������������������������������		���

��������������������������	�����������������������������������������
���������������	�������������������������������	����������������������
����
�������������������	����������������������������������
��������������������������������������������	�������������		�����	���������
���������������������	�����¡����	��������������
�������������������������������������������������������������������	�����¡��
��	������������������������������	��������������������������������	�����
���������������������������������	���������������������������������������������
������	������
���������������������������������	��������������������¤��������������������������
	��	���������������������	�������������������������������
�����������������������������������	������������������������������������	��������������
������������������	�����	������	��	������������������������������������������
¨�������������������������������	����	��������������������������������������������������
���������������������������������
�����
���������������¢�����������������������������������������������������	�������
��������������������������
�����
�������������������	��������	��������������������������������������	���������
���������	��
��������������

������������§����������1 2 ������������������

���	���������������	����������������������
������������������������������������
�����������������������������������������������������������������	�������������������
	����������������������������������	�����������������������	������	����
�����������������������������������������������������������������������������
������	�����¡����	��������������������������������������������������������������
�����������������������
������������������������	���������������������������������������������������	���
����������

�������������������������������������������������������		���

�������������������������	�����������������������������������������
���������������	�������������������������������	����������������������
����
�������������	����������������������������������
���������������������������������������������	�������������		�����	���������
���������������������	�����¡����	��������������
�������������������������������������������������������������������	�����¡��
��	������������������������������	��������������������������������	�����
���������������������������������	���������������������������������������������
������	������
���������������������������������	��������������������¤��������������������������
	��	���������������������	�������������������������������
�����������������������������������	���������������������������	���������������������
�����������	�����	������	��	������������������������������������������
¨�������������������������������	����	�������������������������������������������������
���������������������������������
�����
���������������¢�����������������������������������������������������	�������
��������������������������
�����
�������������������	��������	��������������������������������������	���������
���������	��
��������������

�������������
�����
�������������������¢

�����������������
������������
���������������������������������������������


